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Get the most from this book


Everyone has to decide his or her own revision strategy, but it is essential to review your work, learn it and test your understanding. These Revision Notes will help you to do that in a planned way, topic by topic. Use this book as the cornerstone of your revision and don’t hesitate to write in it — personalise your notes and check your progress by ticking off each section as you revise.


Tick to track your progress


Use the revision planner on pages 4 and 5 to plan your revision, topic by topic. Tick each box when you have:




•  revised and understood a topic


•  tested yourself


•  practised the exam questions and gone online to check your answers and complete the quick quizzes





You can also keep track of your revision by ticking off each topic heading in the book. You may find it helpful to add your own notes as you work through each topic.
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Features to help you succeed
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Examiner’s tips and summaries


Expert tips are given throughout the book to help you polish your exam technique in order to maximise your chances. The summaries provide a quick-check bullet list for each topic.
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Typical mistakes


The authors identify the typical mistakes candidates make and explain how you can avoid them.
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Definitions and key words


Clear, concise definitions of essential key terms are provided on the page where they appear.


Key words from the specification are highlighted in bold for you throughout the book.
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Exam practice


Practice exam questions are provided for each topic. Use them to consolidate your revision and practise your exam skills.
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Now test yourself


These short, knowledge-based questions provide the first step in testing your learning. Answers are at the back of the book.
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Revision activities


These activities will help you to understand each topic in an interactive way.
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Online


Go online to check your answers to the exam questions and try out the extra quick quizzes at www.therevisionbutton.co.uk/myrevisionnotes
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Countdown to my exams
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6–8 weeks to go




•  Start by looking at the specification — make sure you know exactly what material you need to revise and the style of the examination. Use the revision planner on pages 4 and 5 to familiarise yourself with the topics.


•  Organise your notes, making sure you have covered everything on the specification. The revision planner will help you to group your notes into topics.


•  Work out a realistic revision plan that will allow you time for relaxation. Set aside days and times for all the subjects that you need to study, and stick to your timetable.


•  Set yourself sensible targets. Break your revision down into focused sessions of around 40 minutes, divided by breaks. These Revision Notes organise the basic facts into short, memorable sections to make revising easier.
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4–6 weeks to go




•  Read through the relevant sections of this book and refer to the examiner’s tips, examiner’s summaries, typical mistakes and key terms. Tick off the topics as you feel confident about them. Highlight those topics you find difficult and look at them again in detail.


•  Test your understanding of each topic by working through the ‘Now test yourself’ questions and ‘Revision activities’ in the book. Look up the answers at the back of the book.


•  Make a note of any problem areas as you revise, and ask your teacher to go over these in class.


•  Look at past papers. They are one of the best ways to revise and practise your exam skills. Write or prepare planned answers to the exam practice questions provided in this book. Check your answers online and try out the extra quick quizzes at www.therevisionbutton.co.uk/myrevisionnotes



•  Use the revision activities to try different revision methods. For example, you can make notes using mind maps, spider diagrams or flash cards.


•  Track your progress using the revision planner and give yourself a reward when you have achieved your target.
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One week to go




•  Try to fit in at least one more timed practice of an entire past paper and seek feedback from your teacher, comparing your work closely with the mark scheme.


•  Check the revision planner to make sure you haven’t missed out any topics. Brush up on any areas of difficulty by talking them over with a friend or getting help from your teacher.


•  Attend any revision classes put on by your teacher. Remember, he or she is an expert at preparing people for examinations.
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The day before the examination




•  Flick through these Revision Notes for useful reminders, for example the examiner’s tips, examiner’s summaries, typical mistakes and key terms.


•  Check the time and place of your examination.


•  Make sure you have everything you need — extra pens and pencils, tissues, a watch, bottled water, sweets.


•  Allow some time to relax and have an early night to ensure you are fresh and alert for the examinations.
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1 Firms
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A firm is a production unit. Its function is to transform factors of production such as raw materials and workers into goods and services.


A firm can exist in the private sector — meaning that individuals, not the government, own the firm; or it could be owned by the government, that is the public sector, for example some dentists and other health workers, the London underground and the post office.


What objectives do firms have?


The objective of the firm will depend on whether it is in the private or public sector.




•  Private sector firms have to make a profit to survive, so to some extent making a profit has to be a primary objective of firms in the private sector. Whether private sector firms aim to maximise profit is something we are going to discuss below.


•  Public sector firms, however, can survive without making a profit because the government can make up any shortfall in revenues. But some public sector firms aim to make a profit, for example the Royal Mail, although it may have other aims which are more important. For the Royal Mail this may be the quality of service, or the fact that it undertakes to deliver to everyone in the country regardless of where they live — the ‘universal’ service. Another example is the BBC, which is publicly owned and its primary aim is to entertain and educate. If public sector firms do not make a profit, they have to compromise some of their other objectives. For instance, the BBC has had to cut back the range of programming to reduce costs. If public sector firms do not have any ambition to make a profit, they will soon become inefficient and loss-making, which itself compromises the firm’s main objectives.





We are going to look at private sector firms for the majority of this book, returning to public sector enterprises and their efficiency in Chapter 3 (pages 37–40).


Profit maximisation


While all firms in the private sector have to make a profit in order to survive, not all firms maximise profit.
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Examiner’s tip


Profit maximisation is the assumption for private sector firms and you should assume this is the aim of a firm unless you are told otherwise.
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Profit maximisation can be looked at in two ways. Either:




•  the total revenue and total cost are at their greatest difference apart; or price take away cost per unit, multiplied by quantity, is greatest


•  or the point where the revenue gained from selling one more unit (marginal revenue, MR) is exactly equal to the cost of producing one more unit (marginal cost, MC). In shorthand this is written as MR = MC





It means that the firm is making most money relative to the costs. Often, this means that the firm is not making the most amount of revenue possible. This is in fact a different objective called revenue maximisation (see below).


We say that profit maximisation is rational or properly reasoned: if there is an opportunity for a firm to make more profit we assume this is better for the firm than to make less profit. Profit is the reward for risk-taking, so it is rational that the risk-taker will want to get the greatest reward possible.


Looking at MR = MC, if a firm sells one more unit and gets more money coming in than it costs to make that unit, then it is rational for the firm to produce and sell that unit. We say that the marginal profit is positive. By contrast, if in selling another unit the costs are greater than the revenue received, we say the marginal profit is negative and the firm would be advised to reduce output. When the marginal cost equals the marginal revenue the firm reaches equilibrium — or balanced state — meaning there is no tendency either to increase or decrease output, because either of those options would reduce the profitability of the firm.
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Now test yourself





1 Is profit maximisation an equilibrium point? Do I assume all firms are profit maximisers?





Answers on p. 109
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Revenue maximisation


If you ignored all the costs of a firm, or if there are no variable costs, then an alternative to profit maximisation might be that the firm aims to maximise its revenue. This means it cuts its price down to the point where the extra revenue received from selling another unit is balanced by the reduced price on every item it is already selling. We say marginal revenue is zero, or MR = 0.


If marginal cost is zero — i.e. there are no variable costs — that is the same as profit maximisation because if MR = 0 and MC = 0, then MR = MC. However, this is not very likely and therefore revenue maximisation is not fully rational. Firms are making as much money as they can but ignoring the fact that, on some units, costs are greater than the revenue they are receiving so it would be better to cut down on production.


There are some circumstances, however, that would make revenue maximisation a reasonable choice:




•  If a firm is going to have to dispose of all its stock, then effectively the costs are not relevant. For example, a flower-seller who has bought the stock in the morning, and cannot sell it the next day because the flowers will have wilted, is logical in maximising revenue.


•  If a business is owned and managed by different people, there might be different objectives. The owners might be the shareholders who will want maximum profit, but the managers — that is, the people making the decisions about how much to produce — might be paid according to how much is made or sold, for example through performance-related pay or bonuses based on turnover (revenue). In this case, it would be logical for the managers of the firm to maximise revenue.


•  If a firm is about to be taken over by another firm it may be valued on the basis of its revenue. So firms might try to maximise their revenue to ensure that the sale price is as high as possible.
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Now test yourself





2 At the end of a day’s trading, a flower seller cuts prices of all the stock that will not last until the following day. What pricing strategy is this?





Answers on p. 109
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Sales maximisation


This occurs when a firm sells as much as possible subject to the constraint that it at least makes normal profit (see page 14). The firm might increase market share and get rid of competitors by cutting its price. This might be a short-run policy and in the long run the firm might want to return to profit maximisation. This can be shown on a diagram (see Figure 1.1):
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Figure 1.1 Sales maximisation occurs at Q where AC = AR





One reason for sales maximisation is to avoid the attention of the competition authorities. The government is often involved as a watchdog for private firms and if firms are seen to be making a large amount of profit they may be subject to investigation.


Another reason for sales maximisation is that a high level of profitability might attract other firms into the market, so by cutting prices and selling more, new entry is prevented.
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Typical mistake


Do not confuse sales maximisation with sales revenue maximisation. The latter is just another name for revenue maximisation (MR = 0) and ignores costs.
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Now test yourself





3 Do sales-maximising firms have lower or higher prices than profit-maximising firms?





Answers on p. 109
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Examiner’s tip


Sales maximisation is also sometimes called output maximisation. It means making as much output as possible subject to the condition of not making a loss.
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Behavioural theories


While it is nice to draw a neat picture using the assumption that firms behave in a rational way, firms’ objectives do not always seem to be rational. The human intentions and the interaction of the people that run the firms can have a significant impact on output and pricing decisions. The characteristics of the owner or manager will be reflected in the objectives of the firm. For example:




•  If a person wants to run a business with low risk, the business might be kept small, producing just enough to make a certain amount of profit that will pay the costs.


•  Firms may wish to keep profits down to avoid being taken over by other firms, and the managers might get some satisfaction from being in control of their own business which is worth more than money.


•  Some firms will aim to make just enough profit to keep the shareholders happy and then pursue other objectives. For example, a manager may choose to go and play golf rather than sell a few more items because he knows he has reached his sales targets and making any more money will not be as much fun. This policy of satisfying the shareholders with sufficient profit is described by an economics term you need to know: satisficing.





As with the objectives above, apart from profit maximisation, we assume there is a divorce or disconnect between the owners and the managers of a firm.


[image: ]






Now test yourself





4 Why do some firms engage in satisficing?





Answers on p. 109
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Why do firms grow?


The reasons why a firm grows will primarily depend on its objectives. If a firm wants to profit maximise it may need to grow larger in order to make all the profit that is available. If a firm is sales or revenue maximising it will want to grow, subject to certain constraints as discussed above on pages 8–9 Firms may wish to grow because the status of a manager will improve or because workers’ motivation is driven by performance-related pay or because the bigger the firm is, the more people will get paid.


Benefits of growth


What are the benefits of growth to a firm?




•  Economies of scale: larger firms often have lower costs per unit of output in the long run. These are discussed in more detail on page 16.


•  Increased market share: a larger firm has more market power, can control prices and retain consumer loyalty. A larger market share also means that the threat of competitors is reduced.


•  Economies of scope: larger firms are less exposed to the risk that firms might have if they are narrowly focused; especially in times of recession, the dangers of being too uniquely focused can cause uncertainty for a firm’s future.


•  Psychological factors: managers may gain more job satisfaction from working for a well-known brand and having responsibility for large numbers of people. The larger the firm, the bigger its profile tends to be.





How do firms grow?


There are three main ways a firm can grow:




•  Horizontal integration: this is when firms merge at the same stage of the same production process. The firms may not make exactly the same product, and are likely to want to increase the range of products they produce, or are keen to get into new markets around the world.


    For example, when Kraft bought Cadbury in 2010 for £11.9 billion Kraft already made some chocolate products (Terry’s chocolate, Oreo chocolate biscuits and Milka chocolate) so they acquired new brands such as Cadbury’s Creme Egg, but more importantly they gained access to large parts of the European chocolate market.


•  Vertical integration: this is when firms merge at different stages of the production process. This can be broken down into two further types. Backward vertical integration means that one firm is buying another firm that is closer to the raw material stage of production. For example, if a steel maker buys a coal-producing firm, this is backward vertical integration because steel production uses a lot of coal.


    Forward vertical integration means buying another firm in the same production process but closer to the customer. For example, a brewery buying a chain of pubs engages in forward vertical integration.


•  Conglomerate integration or diversification: this is sometimes also called lateral integration. It occurs when a firm buys another firm in a completely unrelated business. A commonly used example is Virgin, a company owned by Richard Branson, that buys anything from trains and aeroplanes to cable internet providers.
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Revision activity


Draw a sketch of a firm that makes something that interests you. Then show all the ways it can integrate, drawing an upwards arrow for backward vertical, downwards arrow for forward vertical etc.
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Now test yourself





5 Penguin books has been bought by the German owners of another large publishing company, Random House. What might be the advantages of this merger?





Answers on p. 109
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Why do some firms remain small?




•  Niche market: some firms operate in very small corners or sections of a market because the demand for the product is specialised and limited.


•  Lack of economies of scale, or existence of diseconomies of scale: we sometimes say that the firm has a small minimum efficient scale. This is the smallest output at which a firm can operate having exploited internal economies of scale. Doctors and dentists usually operate in a small firm owned by ‘partners’, the practitioners themselves, who can only operate a certain caseload based on the hours of the working week.


•  Need for a dynamic, responsive, service-led firm: firms involved in design are often small and quick to respond to the needs of larger firms who buy in their services.


•  Heavy government regulation: some firms are kept small because the government wants to prevent monopolies developing. This is especially true of commercial banks in the US, see Figure 1.6 on page 23.
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Now test yourself





6 Morgan Motor Company in Malvern produces less than 700 cars a year and has a long waiting list. List the factors that might explain why this successful company remains small.





Answers on p. 109
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Revenues


Total revenue and marginal revenue


Revenue is the amount of money a firm receives. If everybody pays the same price, the formula is: price multiplied by quantity, P × Q. For example, if I sell 200 doughnuts for 50p each, my total revenue is £100. When we plot the total revenue curve we must consider whether the firm is a price taker, or a price maker.


If the firm is a price taker it is operating in a very competitive market, and it has to offer its product at the same price as everyone else. If it charges a higher price it will not be able to sell anything.


If the firm cuts the price, it has no advantages because a price taker can sell everything it has at the going rate. A typical example is a fishing boat captain who brings his catch into port in the mornings. The price he gets for his fish will depend entirely on the demand and supply for that type of fish at that particular port and that time and the fisherman has to accept the price offered. When we draw total revenue for a price taker we will draw a straight line going through the origin. (On page 24 there is a table of all the definitions, formulae, and diagrams you will need.)


However for most firms, the demand curve is downward sloping.


When we draw total revenue for a price-making firm, the curve is a parabola shape. What this means is that as the price falls the revenue will rise, but it rises more slowly each time that price is cut, up to the point of maximum revenue. Eventually it reaches the point where revenue will not increase any more. We say the marginal revenue is zero, that is, MR = 0. Marginal revenue is the increase in revenue when one more unit is sold.


You will realise that marginal revenue is less than average revenue — or the price that people are prepared to pay — because when price is cut the firm loses money on all the items it is already selling. Where MR = 0, the amount the firm gets from selling one more item is exactly equal to the amount lost by cutting the price on all the items already being sold. So for example, I am a price-making firm on the beach selling ice creams and I have set the price at £2 per ice cream. I find I cannot sell very many — say 20. My total revenue is £40. I cut the price to increase my sales to £1 and I sell an extra 20 ice creams. My marginal revenue is £20 from selling 20 extra ice creams, but I lose £20 on the ice creams I could have sold at £20 each. My total revenue is still £40; my marginal revenue is zero. The only difference is that I have to sell more ice cream which in fact will cost me more, so I am actually making less profit.
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Typical mistake


You might think it is not true that firms will not be able to sell their goods if they charge a higher price. For instance, you might think a corner shop will charge more than the going rate for some items. The answer to this is that the corner shop is not a price taker. It in fact has some monopoly power over its local market. Monopoly power means that it has control over supply and to some extent the firm can set prices and is therefore a price maker.
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For a price-taking firm, once the total revenue (TR) has reached a maximum, you will then find that TR starts to fall as you cut the prices. It would be stupid for any firm to operate where TR is falling. It means that by selling another item, the gain is actually negative. We call this relatively inelastic demand. When you cut the price, you make less money.


Average revenue


Average revenue is the price the firm receives per unit sold. An average revenue curve is the same as the demand curve, or price. Just as with total revenue you can have a price taker and a price maker:




•  For average revenue, a price taker has a horizontal demand curve which is perfectly elastic.


•  A price maker has a downward sloping demand curve and we draw marginal revenue on the same graph with a gradient twice as steep. As with total revenue, marginal revenue is the amount received for selling one more unit; it is less than average revenue because cutting prices means losing money on items already sold.
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Now test yourself





7 If demand for a product you sell is relatively price inelastic, what should you do?





Answers on p. 109
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Costs in the short run


Costs are the payments that firms must make in recompense for use of the factors of production. Rent must be paid for the use of land, wages for the use of labour, and an amount we call interest must be allowed for the use of capital goods. Included in costs is a reward for risk-taking which is known as normal profit and this represents the amount the risk-taker must receive to keep resources in their current use. Normal profit will be considered as a cost and it is built into the average cost curve.


Costs can be looked at from the point of view of total costs, or the cost per unit, which is also known as average cost.
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Now test yourself





8 How much profit is normal profit?



9 How do you put normal profit on a diagram?





Answers on p. 109
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Total costs


These can be split into two components: fixed costs which do not change with output, and variable costs which increase as more is produced. An example of a fixed cost is rent paid for a building. An example of a variable cost is raw materials, such as cocoa beans used to make chocolate. For the diagram and formulae of these and all the cost curves, see Table 1.2 on page 24. The gradient of the total cost curve is the marginal cost.
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Typical mistake


It is very common to confuse total and average costs. Remember that total costs will never fall and unless they are fixed costs, they will always be rising (fixed costs stay constant as more is produced).
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Average costs


Average cost is total cost divided by the amount produced, or quantity (Q). The cost per unit falls as more is produced because the fixed cost is spread out over more units of output. For example, if you are making chocolate bars, the more you produce the more the cost of the factory is spread out over the number of units produced.
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